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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
1 56 2) 12 3) 59 4 60
1.
x 49 x 42 x 73 X 86
2.
3.
4.
5) 42 6) 95 7) 87 8) 36
5.
X 51 X 23 x 45 X 54
6.
7.
8.
9 72 10) 65 11) 17 12) 76
9.
x 10 X 51 x 11 X 85
10.
11.
12.
13) 93 4 a7 19 30 16) 92
13.
X 54 x 23 x 35 X 93
14.
15.
16.
17) 76 18) 93 19) 12 20) 29
17.
x 17 X 41 x 53 x 35
18.
19.
20.
syt 1-10 [95|190|85(80(75|70| 65|60 |55|50
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
1) 2) 3 4)
56 12 59 60 ) 2744
X 49 x 42 x 73 X 86
504 24 177 360 ” 504
+ 2,240 + 480 +4,130 + 4,800
2 744 504 4307 5 160 s __ 4307
4 5,160
5 6 7 8
) 42 ) 95 ) 87 ) 36 . 2142
X 51 X 23 x 45 X 54
42 285 435 144 6 2,185
+2,100 +1,900 +3,480 + 1,800
2142 2185 3.915 1,944 7. 3915
8 1,944
9) 10 11 12
72 ) 65 ) 17 ) 76 . 790
x 10 X 51 x 11 X 85
720 65 17 380 o 3315
+ 3,250 +170 + 6,080
3.315 187 6.460 n_ 187
2 6,460
13 14 15 16
) 93 ) 17 ) 30 ) 92 s 5022
x o4 x 23 x 39 x 93
372 51 150 276 14 391
+ 4,650 + 340 + 900 + 8,280
5 022 391 1,050 8.556 15 1,050
1. 8,556
17 18 19 20
) 76 ) 93 ) 12 ) 29 o 1290
x 17 X 41 x 53 x 35
532 93 36 145 18, 3,813
+ 760 + 3,720 +600 + 870
1,292 3.813 636 1,015 0. 636
20 1,015
;o 1-10 195(90(85|80| 7570|6560 |55 |50
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